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%U \ﬂﬂﬁl%?%é e k(X) §b‘£@f§%ﬁ * %f&%fﬁ%és: k (y)4 /EI\§+
.29/ 13 1 0 1 15
(5.4) (0.4) (0.0) 0.4) (6.3)

2. 8L EMmEnIEES S 35 12 2 0 49
(14.6) (5.0) (0.8) (0.0) (20.5)

3. LM EVnIEE Y BEbn 79 37 9 0 125
(33.1)  (15.5) (3.8) (0.0) (52.3)

4. % 5 Bb7aun 32 15 3 0 50
(13.4) (6.3) (1.3) (0.0) (20.9)

&t 159 65 14 1 239
(66.5) (27.2) (5.9) (0.4) (100.0)
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A : A = Y 2.88 0.81 x>y 201 (84.1)
FIEOAE - BS54 1.40 0.62 X=y 34 (13.6)
FRIE D #=1.48, p<0.01 (KHIEDH D t MEIZ L D). 1=0.073, N=239, X<y 4 (1.7)
Xl 239  (100.0)
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